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Answer all the questions.
g ‘@ (Group 'A") [3x(1+1)=6]
I (@) I HY AR AFFT T €.x, YT A & y T ET AVEIE FLE 2 G 9
1 TS Hed AfWdfg Faleda! [ qed i g7 ? T aSTerd |
If the marked price of an article is Rs. x, discount amount is Rs. y and
the VAT amount is Rs. z, then what is the selling price of the article
including VAT? Find it.
(@) AT 9T x cm T FSF 9918 y om STH a7 e {afwga @
JAEH HTRA HA g5, AR |
Write down the total surface area of a square based pyramid having
base side x cm and slant height y cm.

R (®) pfy WASH FH FG A 7 AT |

Write down the order of surd in {/; )
@) = g Q= L+ny xh AT h& & TG 7 AETer |

c.f.
What does h denote in the formula Q = L+I>/f xh? Write it.

3 (@ Reua e AB||DETAD || BCBA s AABE A
T JABCD & ghefslreenl q¥eed Heeid |
In the given figure, AB || DE and AD || BC. Write
the relation between the areas of AABE and (5
OABCD. Qs

@) feguat g9 ZPQR T LPSR & & ¥¥awd § ? WERq |

In the given circle, what is the relation of ZPQR and R
ZPSR? Write it. P
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e ‘@ (Group 'B') [4x(2+2)+3x(2+2+2)=34]
AT TG Fepepl W fafarey ITTAR sTat Ter 1 31 @fvg T T fara aX
FHAL: 7.%.103.72T .8 104327 9,
According to the money exchange rate of Nepal Rastra Bank, the
purchasing and selling rates of one American dollar are NRs. 103.72 and
NRs. 104.32 respectively, then,
i) uTelt %.57,376 faa wha stk sax ared afeg 7 9T SR |
How many American dollars can be exchanged with NRs. 57,3767
Find it.
ii) $500 faa e FTelt &Yt ATeT wfereg 7 TT ASTRI |
How much Nepali rupees can be exchanged with $500? Find it.
fa.d. 2069 # TEAT T .. 2070 &I A=TAT TS MSH TTASRAT FAM:
5000 T 5408 it s aTfifer SeEn qigaR Hiq W 7 I SR, |
In the beginning 0f 2069 B.S. and at the end 0of 2070 B.S., the population
of village was 5000 and 5408 respectively. What is the annual population
growth rate? Find it.
T3 SATHIT T AT &rdar 539 feex § | afs awar S=mg 1.4 e
WU ST ST T AMS TR |
The capacity of a cylindrical water tank is 539 litres. If its height is 1.4
meter, then find the radius of the base.

afy TIer M Fagd aAE 30184 a7 F.HY. U TR AefATE T
TSR |

If the surface area of a sphere is 30184 square cm, then find its radius.
I TILT Wielipl ITTS AT AT A T[T T THH AT 5128
.. 9T HeiP AT AHATH I SR |

If the height of a cone is three times the radius of the base and its
volume is 5127 cubic cm, then find the radius of the base of the cone.

A9, ga1 asTerd, (Find the H.C.F. of) :
x*-x and x*+x+1

w3 e (Simplify): 53/54 -33/128 +23/16

afy p=10m, q=10"T p*.q™ = 100 T FHIRTT THEL mn = 1.
If p=10", q=10"and p".q™ = 100 then prove that: mn = 1.
1 e+f

_f 62 _f2 ’

3 T (Simplify) :
e
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it FerraT PQRS U3 @l WA e &1 | @ S

PS &g T 9%H FeEUa g | Ak PR =10 §.91.T T
SQ =8 &.H1.9u AQRT &1 &het FebTevalq |

In the adjoining figure PQRS is a rhombus in Q R
which PS is produced to T. f PR = 10 cm and
SQ = 8 cm, find the area of AQRT.

et femr O gaadt Fwfeg &1 | A LQRT=65°4T
ZRQT T ZQPT &l HIF YT ATSTBIY | R
In the adjoining figure, O is the centre of the circle. If
ZQRT=65°, find the values of the ZRQT and ZQPT.

fermT O gt Fv, PG wneiar T G weifereg g 1 afe

PG = DG 9T ZDPG &I 9 Tl TSI |

In the figure, O is centre of circle, PG is tangent to

the circle and G is point of contact. If PG = DG, D
then find the value of ZDPG.

feguat ferrar AWXY #1 9ot WY @1 XZ & W

AT R G 1 AW XZ =12 A, XY =15

AL T LZXY =300 9U AWXY &l &fder

ﬁmﬁ‘ﬁ'ﬂ;l 20°

In the given figure, the side WY of the AWXY X 15¢cm Y
is bisected by XZ. If XZ =12 cm, XY =15

cm and £ZXY =30° then find the area of AWXY .

HeIF 5 ACH U8l feaR Aofr Sfx =p T Zf= 10 Y p F1 A
frepTege |

In a continuous series, the mean is 5 . If Xfx =p and Xf= 10, then find
the value of p.
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(%) T3er At 1 3R 20 TFw Afguer ST 20 3ieT SW T 3T ace G | FY
TS I @A 'O frerear (WRaRT) @ a9 5 srar 7 @ uned aA
JETHAT T §7g 7 T TS el |
There are 20 balls of same size and shape in a bag numbered from
1 to 20. A ball is taken out independently from the bag, what is the
probability of getting a ball that is multiple of 5 or 7? Find it.

(@) TSeT SHIATHT TILT Teell, TS Al T uer & wh fieitar 5w T 3% fargee
TRITET G| I SHIEATETE T T3l fHaTE e T Ich FoTg ;SR
T ! fHarg TR ST W UIuTHERH GRATATERATS el
WS |
There are one yellow, one red and one white sweets in a bag. A
sweet is drawn randomly and without replacing the sweet another
sweet is drawn from the bag. Show the possible outcomes of the
probabilities in a tree diagram.

E T (Group 'C") [10x4=40]

TSl TR AT AT B g5 SFeaRee AT T8 AT IS T el Haawde
AT 25000 ST WS | HARTA T TS AT S GEerd R | 12000 ST
A &TE, & 10000 STTeF B @1 T 1000 ST 3o af 7 Rug |

In an election of a municipality two candidates A and B stood for the post
of Mayor and 25000 people were in the voter list. Voters were supposed
to cast the vote for a single candidate. 12000 people cast vote for A, 10000
people cast for B and 1000 people cast vote even for both.

(i) &t SIS AT I=@ TR |

Show these information in a Venn-diagram.

(if) BT AT T GETAAA ? IAT AMSTE |

How many people didn't cast vote? Find it.

(iii) i Sfre TEX AT ? AT AR |

How many votes were valid? Find it.

Uger et s T 10% g2 75 13% Ao afighy 2 amge afemlt | afs
.. F@eqd Ted T Geulga! Tead=aa wia & 1170 9T & e sifed e
TAT TSR |

After allowing 10% discount on the marked price of a radio, 13% VAT
was levied and sold it. If the difference between the selling price with
VAT and selling price after discount is Rs. 1170, find the marked price of
that radio.
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T3 PRI ST STE® 6 : 9 ¢ 10 T AT G | Afs Fwar afefHia 2500
fex sT ITh TS SR i gg 7 Tl AS eI |

The sides of a triangular field are in the ratio of 6 : 9 : 10. If its perimeter
is 2500 m, what is the area of that field. Find it.

@.9. MaeTe™ (Find the L.C.M of) :
X+x3-x-x x*-x and 4x°-4

TE AEHA IH! U9l HSEITHT E@eed ANTha 10 § | i | qSerae 72
AT T ASHETH T THEcH 575 | ol gl Il FSTard |

The sum of the digits in a two digits number is 10. If 72 is subtracted from
the number the place of the digits interchanged. Find the initial number.

AT ATIR XY T I8 AL Wee XY TRZ o= sl ARXY &1 &%l
AL TS PXYZ &1 SAhea! 3T g7 Wl T Terd |

Prove that the area of triangle RXY is half of the area of parallelogram PXYZ

standing on the same base XY and between the same parallels lines
XY and RZ.

aFaTg 7.1 4.H6). THACTE 6.1 F.HY, TP AITHT EABAIT T g T Tl
FT 600 ST PIEE AT TR

Construct a rectangle with length 7.1 cm and breadth 6.1 cm. Also construct
a triangle having one angle 60°and equal in the area to the rectangle.

T/ T PQRS #1 TF{@ UGS el qFad FARTEI @It TRrE, | (FRAAT
3 4., T WU gEeier gt AEed® G )

Explore experimentally the relationship between opposite angles of a cyclic
quadrilateral PQRS. (Two circles having radii at least 3 cm are necessary)

T3l JATHIR qradiar &9 120 fiex g | I3 Trade s Si=aT ST @varat
TOTHT &7 Grade fFrare 83t 00 &1 I=IateT &I aaal uTgdr | afe Grgde
Thewrg 2 freX T @ 5= 62 Hi WY 00 @ A I AIS TR, |

The diameter of a circular pond is 120 meter. The angle of elevation of the
top of pillar fixed in the middle of the pond as observed from the edge of
the pond is found to be 6°. If the depth of the pond is 2 meter and height of

the pillar is 62 m, then find the value of 6°.
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o 3T sAfweTa q9l T 390 MY p B AT AT TSR, |
Find the value of p if third quartile of the data given below is 390:

A TE(Daily profit) (Rs.)|0-100 | 100-200 | 200-300 | 300-400 | 400-500 | 500-600

Tqe g&ar (No.of shops)| 12 | 18 27 p 17 6

&F ‘@ (Group 'D") [4x5=20]

T3 Sehel @TaT P AT 10% e srefanties =ghir saretas T @rar Q AT 12% gfaay
i W AR FEH T G | T qUIg 2 afer @it & 50,000 @ S
STHAT 913 grIErs W S @TaTT ST g X fobe 2 1o 1l o Seera
TR |

A bank has fixed the rate of interest 10% p.a. semi-annually compound
interest in account P and 12% per annum annually compound interest in
acount Q. If you are going to deposit Rs. 50,000 for 2 years in the same
bank, in which acount will you deposit and why? Give your reason with
calculation.

TS I AT FATHR T ALTATHR AN (A el G | q el T
I8 24 m T T ATATCH &6 616 m? 9T Ith CATGHAT JRiferat 65 Tarer
ST I 9 STFT i @ AT 7 9T TSR . |

A water tank is formed with the combination of cylinder and hemisphere.
The total height of the tank is 24 m and base area is 616 m?. If the tank is

filled with water at the rate of 65 paisa per litre, what is the total cost for
the water? Find it.

( , 1 )a( 1jb—a
b2 b
e ‘l;lg-lg\ (Slmphfy)

b a-b
(-2 (o+2)
a a

WXYZ TGer 9 aqde &1 1 3 LXWZ T LXYZ & qdeerd s
FHeT: fagEe A T B 1 Wegd 9 AB A AT & WAl Y THe |
WXYZ is a cyclic quadrilateral. If the bisectors of ZXWZ and £ZXYZ

meet the circle at points A and B respectively, then prove that AB is the
diameter of the circle.
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